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88, If a person marked a product 25%
above the cost price but allows 10%

discount, then the percentage of

profit is

re
@A) 15% (6 12.5%
(©) 35% - (D) 17.5%

The price of an antique is reduced by
20% and then this price is again
reduced by 10%. The total reduction

89.

of the price is
(A) 30% ZﬂﬁS%
(C) 25% (D) 23%

A builder purchases 25 windows at
25% off the total price o

ool ‘st%i&“i&‘{ﬁ‘ﬁ?};

&
B

A &
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@‘Aéﬁ B invest in the ratio 3:5. Aft?; Zb . Z

92. In a partnership business, B’s capital
was half of A’s. If after 8 months, B
withdrew half of his capital and after

2 months more A withdrew i’ th of

his capital, then the profit ratio of A ~

and B will be
(A) 10:23.
(C) 5:2

.(B) 23:10
(D) 2:5

2. A

4
identical buses and occupies 5 of the

school group charters three

1
seats. After 7 of the passengers

leave, the remaining passengers use
only two of the buses. m ction of
the seats on @)‘ t are

9 8 7
TTB(B)E ©g D3 -

the \e the cost h 6 months, C joins the business .
P (l.é s P a investing an amount equal to B’s. At
_ the end of the year what will be the
(A) 3100 (B) ¥ 3200 ratio of their profits ?
(©) 23300 (D) T 3400 (A) 3:5:2 9 b
(©) 6:10:5 (D) 8:10:5
: 11 11 95. In a library the ratio of story books
9. IfA:B =513 B:C =517 then and other books is 7 : 2 and there are
it ; 1512 story books. Due to collection
(A+B): (B +C)isequal to of some more story books the said
: 3 ratio becomes 15:4. The number of
&) 22 (B eh story books collected is _
(©) 5:8 (D) 15:16 - (A)100 (B)97 (C) 108 (D) 205
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